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BEARX . 7T —N\VT A RATE BEBitE=71.2 &H=74.5
IN—TEt

B 32 K £ 1 2 3 4 GROSS HDGP NET
1 |EH EBE 45 42 87 19.0 68.0
2 | KH#E B 46 45 91 22.0 69.0
3 |k& BE 41 44 85 16.0 69.0
4 IR E 42 47 89 20.0 69.0
5 |[lBX E=Z 42 42 84 14.0 70.0
6 |RR HX 39 39 18 5.0 713.0
1|dE L= 46 47 93 19.0 74.0
8 |AE BELE 46 48 94 20.0 74.0
9 [/ME = 44 47 91 17.0 74.0
10 |55 f5T 42 43 85 10.0 75.0
11 |%EA =73 42 43 85 10.0 75.0
12 |52%F M 44 45 89 14.0 75.0
13 |7 % 44 45 89 14.0 75.0
14 |FH FiE 39 41 80 5.0 75.0
15 |&h)Il EE 42 44 86 11.0 75.0
16 |EEEH Bz 40 47 87 12.0 75.0
17 |1IER BEEBA 38 47 85 10.0 75.0
18 |ZH# = 49 42 91 15.0 76.0
19 (LA K& 45 41 86 10.0 76.0
20 ;ZH Fig 4] 45 92 16.0 76.0
21 &% EEHH 44 42 86 10.0 76.0
22 |k 1&E 40 40 80 4.0 76.0
2 A B 45 47 92 16.0 76.0
24 L%t FERR 43 47 90 14.0 76.0
25 NNt EHA 43 47 90 14.0 76.0
26 |MESXR & 48 42 90 12.0 78.0
27 (A R 41 38 79 1.0 78.0
28 |iXH —E 48 47 95 17.0 78.0
29 | K 44 47 91 13.0 78.0
30 |MH HE 50 47 97 18.0 79.0
3 |BE BX 50 47 97 18.0 79.0
32 |*FH =g# 45 47 92 13.0 79.0
3B |EAR FE 44 48 92 13.0 79.0
4 |h¥ KE 44 49 93 14.0 79.0
3 |iwmA HtL 45 55 100 21.0 79.0
36 |FEO #FE 51 43 94 14.0 80.0
37 |FAN t— 47 44 91 11.0 80.0
38 [;)kHE  FH— 46 45 91 11.0 80.0
39 |UAR BE 46 45 91 11.0 80.0
0 |8 & 49 53 102 22.0 80.0
M |KE HiE 52 56 108 28.0 80.0
42 |xBh EE 45 50 95 15.0 80.0
43 |FH  tEsE 47 53 100 20.0 80.0
44 | Flth 50 47 97 16.0 81.0
45 |H¥  FERd 45 44 89 8.0 81.0
46 |8 RE 45 46 91 10.0 81.0
47 |[&ZF EE 4] 50 97 16.0 81.0
8 185 —H8H 45 44 89 7.0 82.0
49 (KB 1% 45 46 91 9.0 82.0
50 |*FH EH 43 46 89 1.0 82.0




51 |l EHK— 43 4] 90 8.0 82.0
52 [{TR =& 44 49 93 11.0 82.0
53 | LM "5 54 50 104 21.0 83.0
54 [EH X 49 52 101 18.0 83.0
55 & MR 53 57 110 21.0 83.0
56 |&fE BAS 317 48 85 2.0 83.0
57 #ifE fE2— 65 54 119 35.0 84.0
58 [EH &E— 51 51 102 18.0 84.0
5 (EH &RE 55 52 107 22.0 85.0
60 | Xt B— 50 46 96 10.0 86.0
61 |0 =& 52 54 106 19.0 87.0
62 |EF HE 46 49 95 8.0 87.0




